

$$(x, y) \mapsto x \cdot f(y) \sim x \cdot f(b) = f$$

Q. 1. Find the value of x.

$$(x^{\sqrt{p}})^p = x^{\sqrt{p}^2} = x^p$$

$$\left[\frac{b}{a} \right] = \left[\frac{\sqrt{2}}{\sqrt{2}} \right] \sqrt{\left[\frac{2}{2} \right]} \left[\frac{2}{2} \right] \left[\frac{2}{2} \right] \left[\frac{2}{2} \right]$$

$$\frac{251}{\sqrt{10}} \left(\frac{\sqrt{10}}{10} 2 + a \right) + a$$

$$\left| \frac{\sqrt{p_0}}{\mu} \left(\frac{\sqrt{\mu}}{\mu} \right) + a \right| + a s_0 \rightarrow \frac{1}{\mu} + a + a s_0 \rightarrow \frac{1}{\mu} - a \rightarrow \frac{-1}{4}$$

$$[a] = \left[\frac{-1}{9} \right] = 1$$

$$x \rightarrow \left(-\frac{1}{x}\right)^+ \quad \text{for } x \rightarrow 0^+ \quad \text{and} \quad \left[\frac{x}{x^p}\right]$$

$$2 > -\frac{1}{\mu} - \frac{1}{2} < -\mu \rightarrow \frac{1}{2\mu} > \mu \rightarrow \frac{-\mu}{2\mu} < -1 - \left[\frac{-\mu}{2\mu} \right] = -9$$

$$\frac{\mu}{2\mu} > 1\mu \cdot \left[\frac{\mu}{2\mu} \right] = 1\mu$$

$$-1P, 1P, 0, 0, 0$$

$$\lim_{x \rightarrow \infty} \frac{x^N - x}{x^N - [x^N]}$$

.3

$$\frac{[x^N] - [x^N]}{[x^N] - [x^N]} = \frac{[x^N]}{[x^N]} = 1$$

$$\frac{(n-1)(n+1)}{(n-1)(n+1)} \cdot \frac{x+N}{x^N + 1} \cdot \frac{1}{1} \cdot \frac{1}{1}$$

$$\lim_{x \rightarrow -1} \frac{x^N + 1}{1 + 4x^N} \cdot \frac{1}{1} \cdot \frac{1}{1} \cdot \frac{1}{1}$$

.4

$$\frac{-1 \times 1}{1} = -1$$

$$\lim_{x \rightarrow 0} \frac{\sqrt{x^2 + 1} - \sqrt{x^2 - 1}}{\sqrt{1 - \cos x}} \times \frac{\sqrt{1 + \cos x}}{\sqrt{1 + \cos x}} \times \frac{\sqrt{x^2 + 1} + \sqrt{x^2 - 1}}{\sqrt{x^2 + 1} + \sqrt{x^2 - 1}}$$

.5

$$\frac{x^2 + 1 - x^2 + 1}{-2\sqrt{x^2 + 1} \sqrt{x^2 - 1}} \times \frac{\sqrt{1 + \cos x}}{\sqrt{x^2 + 1} + \sqrt{x^2 - 1}} \times \frac{1}{1}$$

$$\frac{2}{-2} = -1$$

$$\lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{ax})}{kx^2} \cdot \frac{1}{1} \cdot \frac{1}{1} \cdot \frac{1}{1}$$

.1

$$\frac{-\sqrt{a} \times \sqrt{a} x}{1 \times kx} = \frac{-a}{k}$$

$$\frac{a}{k} = \frac{-4k}{k} = -4$$

$$\lim_{z \rightarrow \infty} \frac{\sqrt{z-a} + \sqrt{z-b} - \sqrt{PQ}}{\sqrt{2z-9a}} \cdot \frac{0}{0} \quad .9$$

$$\sqrt{(z+a) \times \sqrt{z-b}}$$

$$\text{H.O.P} \left(\frac{1}{\sqrt{z-a}} + \frac{1}{\sqrt{z-b}} \right) \times \sqrt{2z-9a} \sim \left(\frac{1}{\sqrt{z-a}} + \frac{1}{\sqrt{z-b}} \right) (\sqrt{z-a}\sqrt{z-b})$$

$$\frac{1}{\sqrt{z-a}} \times \sqrt{z-b} + \frac{1}{\sqrt{z-b}} \times \sqrt{z-a} = \frac{\sqrt{4a}}{\sqrt{a}} \times \frac{1}{\sqrt{4a}}$$

$$\lim_{z \rightarrow -1} \frac{1-k}{z^p-1} \quad s \rightarrow -\infty \quad \begin{matrix} -1^- \\ -1^+ \end{matrix} \quad \frac{1+k}{z^p-1} \quad s \rightarrow -\infty \quad \begin{matrix} 0^- \\ 0^+ \end{matrix} \quad \begin{matrix} k > -1 \\ k < -1 \end{matrix} \quad .10$$

$$\frac{1+k}{z^p-1} \quad s \rightarrow -\infty \quad \begin{matrix} 0^- \\ 0^+ \end{matrix} \quad \begin{matrix} k > -1 \\ k < -1 \end{matrix}$$

$$-1 < k < -\frac{1}{p} \rightarrow -\pi < \arg z < -\frac{\pi}{p}$$

